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Pemure ypasneHue (1—3).

*
L a) (%] 6) 25 T=g8;
B} log, x = 3; r) log, (Bx +1) = -2.
2
2. a) 3*11_3*=18; 6) log, x +log, x = 6;

) log (log, x) = -1
3
3. a)(lgx’-lgx=2; 6)3%%_8.3" 2= g

) log, x—log, 4=8; 1)log,(5x—1)-——> +1=0;

log,(5x-1-1
%) 57-6.57=3,8.
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Peunre ypassenue (1-—3).

H
1. a) G) =8 6) 32 1= 27;
B) loggx=2; ) log, (4x +1) = -2,
3
2, a) 97— 9%=172; 6) log; x — log, x = 2;

r) log,(log, x)=1.
2
3. a) (lgx)?-2lgx=3; 6) 2571 _7.2% =4
3

——4+1=0;
log,(5x - 4)-1

B) loggx—logx 9=1;r) log4(5x74)7
) 4°—6-47%=2,5.




